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QUESTION 1

Which three choices are required for the boot process for a Cisco IP phone? (Choose three.) 

A. TFTP services 

B. DHCP services 

C. Voice VLAN 

D. Routing protocol 

E. TCP/IP 

F. PortFast 

Correct Answer: ABC 

 

QUESTION 2

A network engineer receives a report about poor quality on an active call between the IP phone of user A over the WAN
to the IP phone of user B. Using web access to the phone, the network engineer remotely checks call statistics such as
jitter, network delay, and packet loss. Calculated packet loss is 3%, average jitter is 20 ms, network delay is 1 ms, and
conceal seconds is 7. 

What is the most likely problem with this call? 

A. Calculated packet loss is too high. 

B. Average jitter is too high. 

C. Network delay is too high. 

D. Conceal seconds are too high. 

Correct Answer: A 

 

QUESTION 3

Use the router console to view the configuration and answer the question. 
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International calls are also failing. Using the router configuration supplied, why are international calls failing? 

A. Prefix should be 00 
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B. The character "T" cannot be used in a Pots dial pattern 

C. The port should be 0/0/0:12 

D. The destination pattern is missing a "0" 

Correct Answer: A 

The International dial peer configuration is shown below: 

The prefix is incorrectly set to 900, not 00. 

 

QUESTION 4

A manager is generating bill reports for a particular user. Which navigation sequence must be used for this task? 

A. Bills > Department 

B. User Reports > Bills > Department 

C. Bill > Individual 

D. User Reports > Bills > Individual 

Correct Answer: D 

 

QUESTION 5

An engineer is building a Cisco Unity Connection user account. Which type of account should the engineer choose if
using a prepopulated extension that requires the ability to change the extension in the future? 

A. corporate directory synchronized user 

B. local Cisco Unity Connection user 

C. CUCM import 

D. LDAP import 

Correct Answer: D 
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